BX2509

@BLUE ox*’ 1994-96 Mazda B Series 2WD Pickup

Installation Instructions

Installation of this baseplate requires removing the bumper.

10.

1.

12.
13.
14.

Read the General Instruction Sheet included with this baseplate.

The baseplate mounts to the vehicle using the four bolts that mount the bumper to the frame and two bolts into the
frame. All bolts are provided with the baseplate.

The bumper of the pickup will be removed during the installation. Before starting, take some measurements between
the top of the bumper and the body of the truck so the bumper can be replaced in its original position.

The bumper is bolted on with four bolts on brackets just inside of the frame rails. Loosen the four bolts. Before taking
the bolts out, remove the turn signal bulbs from the lenses in the bumper. Remove the bolts and take off the bumper.

The bumper bolts to brackets welded to the inside of each frame rail. When the baseplate is installed, the baseplate
will be “sandwiched” between the bumper mounts and the frame brackets.

To make room for the baseplate between the bumper mounts and the frame mounts you will need to adjust the posi-
tion of the bumper mounts on the bumper. The bumper mounts bolt to the bumper and are slotted to allow for adjust-
ment. Before loosening these bolts make a reference mark on the bumper so you can accurately measure how much
you have moved the mount. Loosen one side and move the bracket in 1/4". Tighten the bolts back up. Loosen the
other side, move it in 1/4", but only tighten these bolts enough to hold the mount in the new position. You will com-
pletely tighten these bolts after the bumper is mounted to the frame again.

Hold the baseplate up between the mounts in its approximate mounted position. The slots in the upper baseplate
mounts should align with slots in the frame brackets. The outside rear mounts on the baseplate will match up with a
slot on the frame rail on each side. Set the baseplate aside and guide a nut plate up through the slot. Position the
plate with the weld nut up. Additional access to the plate can be made through a triangular opening on the side of the
frame.

Hold the baseplate back up in its mounted position. Temporarily bolt the baseplate in this position with two or three of
the 12mm x 40mm bolts. There will be a gap between the outside rear mounts and the bottom of the pickup frame.
The gap may or may not be the same on each side. Six 1/2" flat washers and four 1/4" thick washers have been pro-
vided to fill this gap. Stack the required washers in the gap and start a 1/2" x 1 1/2 bolt and lock washer through the
stack of washers into the weld nut in the frame. Use Locktite, but only snug up the bolts enough to hold the baseplate
in position while the 12mm bolts are removed.

Remove the 12mm bolts installed in Step 8. Have an assistant hold the bumper up and slide the bumper mounts
inside the baseplate mounts. You may need to slide the loose bumper mount in further to get all the bolts started.
Apply Locktite and start the 12mm x 40mm bolts through the holes from inside out. Use a 1/2" flat washer and a lock
washer under each nut.

Check the position of the bumper with the measurements taken in Step 3. When the bumper is properly positioned
tighten the four bolts completely. Tighten the bolts that hold the bumper mount to the bumper. Tighten the two 1/2"
bolts in the outside rear mounts.

The dimensional variations between otherwise identical cars can be considerable. While the location and size of the
holes in the baseplate were designed to allow for easy installation, it may be necessary to file a hole slightly to allow a
bolt to clear.

Install the tow bar and safety cables according to the instructions included in their packages.
Do not substitute other devices if the tow bar pin and clip are lost.

DEALER OR INSTALLER: BE CERTAIN THE USER RECEIVES THE INSTRUCTION SHEET.

292-1342 Page 1 of 2 7/98



BX2509
1994-96 Mazda B Series 2WD Pickup
Installation Instructions

Tools Required

21mm Socket 19mm Socket 3/4" Socket
Loctite Red

Parts List
Ref.No.  Qty. Part No. Description
1 2 BT1-3950 e Weldment, Nut Plate, BX2509
2 1 (SR 01 Weldment, Baseplate, BX2509
3 2 20170057 oo 1/2-13 x 1 1/2 Hex Bolt, Grd. 5
4 4 D2 0 B e 12mm-1.25 x 40mm Hex Bolt, Grd. 8.8
5 4 20270120 oo ——————— 12mm-1.25 Hex Nut
6 10 20370005 ... ———————— 1/2 Flat Washer
7 2 P24 01 T 010 L N 1/2 Lock Washer
8 4 D2 01 0 B 1 0 TR 12mm Lock Washer
9 4 2030127 e Washer, 1.5 OD x 0.531 ID x 1/4"

© Blue Ox

One Mill Road, Industrial Park
Pender, Nebraska 68047
Phone: (402) 385-3051

Fax: (402) 385-3360
www.blueox.com

292-1342 Page 2 of 2 7/98



General Information

1. Ensure that your product(s) are registered online at www.blueox.com. It is crucial to register your product(s)
so that you may be alerted of product offerings, updates, upgrades, maintenance and safety bulletins, and/
or recalls.

2. ltis the owner’s responsibility to inspect all towing equipment for cracked welds, missing or worn
parts and loose bolts before each towing trip. Be sure to use Loctite® Red on all bolts and tighten to the
recommended specifications.

3. Itis the owner’s responsibility to hook up all towing equipment per manufacturer’s instructions/
recommendations.

4. Remove the attachment tabs when not in use (if applicable).

Notice To Baseplate Installer
1. Itis YOUR responsibility to watch for:
» Qil cooler and air conditioner lines
* Electrical wires and hoses
» Missing parts or attaching points on the frame

** If the baseplate is improperly installed and is against a wire or hose, it could cause fluid leaks or
electrical shorts some time after the actual baseplate installation.

Permanent Baseplate Safety Cable Installation

Permanent baseplate safety cables are strongly recommended when towing a vehicle with a tow bar.
The principle function of the permanent baseplate safety cables is to prevent the towed vehicle from
breaking loose in the event the connection between the frame of the towed vehicle and the baseplate
fails or becomes disconnected. The cables must be connected from the baseplate to the frame rail

or cross member of the vehicle’s frame. The illustrations below show the possible arrangements
recommended by Blue Ox®. Each permanent baseplate safety cable must have an adequate weight
rating for the towing system. The weight rating of the two (2) cables together will not qualify.

Do not mount the permanent baseplate safety cables against wires, hoses or brake lines.

These permanent baseplate safety cables should remain installed as long as the baseplate is
installed on the vehicle. Permanent baseplate safety cables are to be used in conjunction with,
and NOT a replacement for legally required safety cables attaching the towed vehicle to the towing
vehicle.

OPTION #1 OPTION #2
Fermanent Bassplcte Sofely Cobles Fermonant Baseploie Safety Cobles
to Cromsa Mamber or to Croaa Member or
Frame of Towed Vehicla. Frame of Towad Vehlcle.

Convanlanca
Link

5/11/15



